



St. Louis County, Minnesota

Date of Report: 12/14/2025 5:12:41 PM

**General Details** 

 Parcel ID:
 450-0010-03061

 Document:
 Abstract - 01390763

**Document Date:** 09/04/2020

**Legal Description Details** 

Plat Name: MIDWAY

Section Township Range Lot Block

19 49 15 - -

Description: N 1/2 OF SE 1/4 OF SW 1/4 EX 2/100 ACRES FOR HIGHWAY AND ELY 66 FT OF S 1/2 OF SE 1/4 OF SW 1/4

NORTH OF HIGHWAY

**Taxpayer Details** 

Taxpayer Name KIVI BROS TRUCKING INC

and Address: 5739 OLD HWY 61

DULUTH MN 55810

Owner Details

Owner Name KIVI BROS TRUCKING INC

Payable 2025 Tax Summary

2025 - Net Tax \$6,728.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$6,728.00

### **Current Tax Due (as of 12/13/2025)**

Due May 15		Due October 15		Total Due	
2025 - 1st Half Tax	\$3,364.00	2025 - 2nd Half Tax	\$3,364.00	2025 - 1st Half Tax Due	\$0.00
2025 - 1st Half Tax Paid	\$3,364.00	2025 - 2nd Half Tax Paid	\$3,364.00	2025 - 2nd Half Tax Due	\$0.00
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00

**Parcel Details** 

Property Address: 5789 OLD HWY 61, DULUTH MN

School District: 704

Tax Increment District: 
Property/Homesteader: -

Assessment	Details	(2025	Payable 2020	íô
ASSESSIIIEIIL	Details	してひとう	ravable 2020	J

Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
233	0 - Non Homestead	\$69,500	\$337,900	\$407,400	\$0	\$0	-
Total:		\$69,500	\$337,900	\$407,400	\$0	\$0	7398





St. Louis County, Minnesota

Date of Report: 12/14/2025 5:12:41 PM

**Land Details** 

 Deeded Acres:
 20.03

 Waterfront:

 Water Front Feet:
 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

		Improve	ment 1 D	etails (OFFICE)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
OFFICE	1994	83:	2	832	-	-
Segment	Story	Width	Length	Area	Foundati	ion
BAS	1	26	32	832	BASEME	NT
BMT	1	26	32	832	FOUNDAT	TON
		Improveme	nt 2 Deta	ils (I ARGE BI D	G)	

		<b>Improveme</b>	nt 2 Deta	ils (LARGE BLD	)G)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
UTILITY	1960	12,0	72	12,072	-	EQP - LT EQUIP	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	0	0	1,922	FOUNDAT	TON	
BAS	1	25	42	1,050	FOUNDAT	TON	
BAS	1	40	100	4,000	FOUNDAT	TON	
BAS	1	50	102	5,100	FOUNDAT	TION	

			Improv	ement 3 I	Details (14X20)		
lr	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	MATERIALS STORAGE	0	28	0	280	-	MC - MATL CLSD
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	14	20	280	FLOATING	SLAB
			Improv	ement 4	Details (8X14)		

		iiiipiov	Ciliciit 4	Details (OX 14)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
MATERIALS STORAGE	0	11:	2	112	-	MC - MATL CLSD
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	8	14	112	FLOATING	SLAB

		Improv	ement 5 [	Details (16X20)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
MATERIALS STORAGE	0	32	0	320	-	MC - MATL CLSD
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	16	20	320	FLOATING	SLAB





St. Louis County, Minnesota

Date of Report: 12/14/2025 5:12:41 PM

					0-1-11- (00)(00)										
	_		-		Details (36X38)										
	Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.								
	UTILITY	1994	1,368		1,368	-	EQP - LT EQUIP								
	Segment	Story	Width	Length		Foundat									
	BAS	1	36	38	1,368	FLOATING	SLAB								
			Improv	ement 7	Details (8X10)										
I	Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.								
S	TORAGE BUILDING	0	80	)	80	-	-								
	Segment	Story	Width	Length	Area	Foundat	ion								
	BAS 1		8	10	80	POST ON G	ROUND								
	Improvement 8 Details (CONEX)														
ı	Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code & Desc.														
S	TORAGE BUILDING	0	320	0	320	-	-								
	Segment	Story	Width	Length	Area	Foundat	ion								
	BAS	1	8 40		320	POST ON GR	ROUND								
			Improver	ment 9 De	etails (10K GAL)										
ı	Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.								
		0	10,000		10,000	-	ST - STORAGETNK								
	Segment	Story	Width Length		Area	Foundat	ion								
	BAS	0	0	0	10,000	-									
			Improvo	mont 10 F	Dotoilo (41/ CAL)		21.0								
			improver	HEIR IO L	Jetalis (TN GAL)										
1 1	Improvement Type	Year Built	Main Flo		Details (1K GAL) Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.								
	Improvement Type	<b>Year Built</b> 0	•	or Ft <sup>2</sup>	•		Style Code & Desc. ST - STORAGETNK								
	Improvement Type Segment		Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup> 1,000		ST - STORAGETNK								
		0	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup> 1,000	Basement Finish	ST - STORAGETNK								
	Segment	0 Story	Main Flo 1,00 Width	oor Ft <sup>2</sup> 00 Length	Gross Area Ft <sup>2</sup> 1,000 Area	Basement Finish - Foundat	ST - STORAGETNK								
	Segment	0 Story	Main Flo 1,00 Width 0	oor Ft <sup>2</sup> 00 Length	Gross Area Ft <sup>2</sup> 1,000  Area 1,000	Basement Finish - Foundat	ST - STORAGETNK								
	Segment BAS	0 Story 0	Main Flo 1,00 Width 0	Length 0 ent 11 De	Gross Area Ft <sup>2</sup> 1,000 Area 1,000 etails (CONC PAI	Basement Finish Foundat	ST - STORAGETNK								
	Segment BAS	O Story O Year Built	Main Flo 1,00 Width 0 Improvement	Length 0  cent 11 De por Ft 2	Gross Area Ft <sup>2</sup> 1,000 Area 1,000 etails (CONC PAI Gross Area Ft <sup>2</sup> 24,585	Basement Finish Foundat	ST - STORAGETNK ion  Style Code & Desc. C - CONCRETE								
	Segment BAS  Improvement Type PARKING LOT	0 Story 0 Year Built 0	Main Flo 1,00 Width 0 Improveme Main Flo 24,5	Length 0  cent 11 De por Ft 2	Gross Area Ft <sup>2</sup> 1,000 Area 1,000 etails (CONC PAI Gross Area Ft <sup>2</sup> 24,585	Basement Finish  Foundat   D)  Basement Finish  -	ST - STORAGETNK ion  Style Code & Desc. C - CONCRETE								
	Segment BAS  Improvement Type PARKING LOT Segment	O Story 0 Year Built 0 Story 0	Main Flo 1,00 Width 0 Improveme Main Flo 24,5: Width 0	Length 0  cent 11 De por Ft 2  85  Length 0	Gross Area Ft <sup>2</sup> 1,000 Area 1,000  Ptails (CONC PAI Gross Area Ft <sup>2</sup> 24,585 Area	Basement Finish  Foundat  D)  Basement Finish  Foundat  -	ST - STORAGETNK ion  Style Code & Desc. C - CONCRETE								
	Segment BAS  Improvement Type PARKING LOT Segment	Story 0  Year Built 0 Story 0  Sale:	Main Flo 1,00 Width 0 Improveme Main Flo 24,5: Width 0	Length 0  cent 11 De por Ft 2  85  Length 0	Gross Area Ft <sup>2</sup> 1,000 Area 1,000 Etails (CONC PAI Gross Area Ft <sup>2</sup> 24,585 Area 24,585 Louis County A	Basement Finish Foundat  D) Basement Finish Foundat	ST - STORAGETNK ion  Style Code & Desc. C - CONCRETE								





St. Louis County, Minnesota

Date of Report: 12/14/2025 5:12:41 PM

		A	ssessment Histo	ry				
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	ы	ef dg //V	Net Tax Capacity
	233	\$121,600	\$202,000	\$323,600	\$0	\$	0	-
2024 Payable 2025	Total	\$121,600	\$202,000	\$323,600	\$0	\$	0	5,722.00
	233	\$115,300	\$191,500	\$306,800	\$0	\$	0	-
2023 Payable 2024	Total	\$115,300	\$191,500	\$306,800	\$0	\$	0	5,386.00
	233	\$104,900	\$178,900	\$283,800	\$0	\$	0	-
2022 Payable 2023	Total	\$104,900	\$178,900	\$283,800	\$0	\$	0	4,926.00
	233	\$104,900	\$178,900	\$283,800	\$0	\$	0	-
2021 Payable 2022	Total	\$104,900	\$178,900	\$283,800	\$0	\$	0	4,926.00
		1	Tax Detail Histor	y				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Bui MV	lding	Total '	Taxable MV
2024	\$6,612.00	\$0.00	\$6,612.00	\$115,300	\$191,50	0	\$3	306,800
2023	\$6,382.00	\$0.00	\$6,382.00	\$104,900	\$178,90	0	\$2	283,800
2022	\$7,366.00	\$0.00	\$7,366.00	\$104,900	\$178,90	0	\$2	283,800

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.